
23/05/2009
GPS On a 8 m sloop

t = 12.04583333 12:02:45 LAN R = 42º
B = 43.8346211 43º 50.077' N V = 5 kt
L = -1.50368315 01º 30.221' W NW wind

sea = 1.5 m

Noon Fix Abs Error Abs Error Abs Error Rel Error
t = 12.042349 12:02:32 H max
t = 12.050301 12:03:01 LAN -0.00446767 h -16.0836 s -16.0836 s 0.04%

B = 43.849006 43º 50.94' N -0.0143849 º -0.86309393 nm -1598.45 m 0.03%
L = -1.568317 01º 34.10' W 0.06463385 º 3.87803085 nm 7182.11 m 4.30%

Source of error: the course and speed of the sailboat, the sextant observations
Celestial Fix
at = 12:02:45
Fix(43.843249444700525, -1.516290895891624) ( 43º 50.6'  -1º 31.0')�LopLSSR
Fix(43.843247084873241, -1.516279201684948) ( 43º 50.6'  -1º 31.0')�KaplanSR_Bm = 0 

at = 12:03:01
Fix(43.843524521262673, -1.515948280798993) ( 43º 50.6'  -1º 31.0')�LopLSSR
Fix(43.843522173171898, -1.515936297617551) ( 43º 50.6'  -1º 31.0')�KaplanSR_Bm = 0 
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